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Unit 3 - Week 2

Course outline

Assignment 2

The due date for submitting this assignment has passed. Due on 2020-02-12, 23:59 IST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course wark?

Week 1
Week 2 Line integral
@ More problems on vector Suppose ¢ = 2xyz”, F = Xyx — zy+ x2z, and Cisacurve x =13, y=2t,z =1t from t =0to t =1
differential caleulus .
1) The integral fc ¢ dr evaluates to 3 points
Vector integral calculus: Line
integral
Surface integral EE+4“+1..%
raceinieg 1735773
Volume integral
IE e '4 ~ £
Fundamental theorems of ﬁx + Ey + z
vector calculus: The gradient
theorem
E . '4 - #
The divergence theorem 11 x 5 y+z
(Gauss's theoram)
. 8. 4, ] .
The curl theorem (Stokes —X=—=—V+ =2
theorem) 11 5 2
. ) Mo, the answer is incorrect.
Week 2 Practice Assignment Score: 0
Quiz : Assignment 2 A‘g GEDTE?‘AH sl
—X+ —y+2Z
Week 2 Feedback 11 57
@ Assignment 2 solutions 2) Theintegral /. F x dr evaluates to 4 points
Week 3
9 . 2. N 7.
—X - = -z
Week 4 10 3 ¥ 5
Week 5 9 9 7
—_—— - —y= =
0" 377 F
Week 6
9. 2. 7.
Week 7 0¥~ gJ-"" 5%
Week 8 Q . 2. 7.
-_—X+ - -z
0 "3’"s
Week 9
Mo, the answer is incorrect.
acore: 0
Week 10 Accepted Answers:
9 . 2. N 7.
Week 11 le S'F 5;:
Week 12
Download Videos 4] Surface integral & points
Lecture materials Suppose A = 18zx — 127 + 3yz and .S is the part of the plane 2x + 3y + 6z = 12 located in the first octant.

th. A. da ( da is the area element ) becomes

24
19
14
16

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
24

4] Volume integral 6 points

Avolume V' is bounded by the surfaces x =0, y =0, y =6, z = x*, z = 4. The volume integral [, FdV for F = 2xzx — xJ + »’Z is

125x — 243 + 384z
128x + 24y + 384z
125x + 24y + 384z

128% — 247 + 3843

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
128% — 247 + 384z

2) Divergence theorem & points

A fluid of density p(x, y, z, t) moves with velocity v(x, ¥, Z, 1). The current density } is given by ..F = pE . If there are no sources or sinks,

applying divergence theorem the relation you find between V. J and d_l: is

S dp
V.J = —
ait
S ap
V. =——
at
- = 1 dp
V. = =——
2 dt
- - 1 dp
V.d=—-——ur
20 "
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
v.j=-2
T o
6] Stokes'theorem 5 points

Let x = cost,y = sint,z =0, 0 <t < 2x be the parametric equation of aline C . Fora A=(2x - y)x = yziy - y'zz
the surface integral f AV X A). da over any surface § enclosed by the line C becomes

2x

4r

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
I



